Velika logi¢na posSast

Pitagorov izrek

Izpolni preglednico: kateta g, kateta b,
hipotenuza c.



2 | Pitagorov izrek.nb

a 7 714 9
b 13 5 12 23 3
c|/205 [v/29 |4+/10 |+/85 4 15 14
2.
a 9 1 6 14
b 1 6 12 [2+/15 |54/3 2
c|+/10 [v130 |10 |10 8 14
3.
a 7 1 2 6
b|3+421 412421 |2+/30 33
c 17| 14 10 17 |13 9 6
4.
a 14 13 12
b 13 |4/145 7162 |44/6 |3-+/21
c 22 17 11| 14 17 | 4/205
5.
a 6 10] 11 7 11
b 12 13 6 14
c|2-+/85[+/290 8|2 /74 14 | /221
6.
a 13 4
b 7 71343 1 11[7-+/3 10
c 7 /5 14[+/10|+/185 [ /202 142426
7.
al 11 14 14 13] 9
b 1 8 9 11 112
c 7-4/5|+/113|+/181[+/197|5-+/5




Pitagorov izrek.nb | 3

11 8] 11 4 7 6 10
12 11 3
15 14 135 9545
9.
6 10 14
2.7 1134782 6 10 10
8|11 -+2 12 12 2. 4/26 /221
10.
11| 14 9 14] 14| 3
/145 V119
15 [ /277 13| 17| 17| 17] 10| 12
11.
2 7
7 9lvi19| 11 6|21
7|1v113]9-v2| 12]v317] 8[3-45| 5
12.
7 13 8] 3] 13 3
V29|93 8 41 10
15| 17(7-+2 15[ /233
13.
6 41 12] 2 14 6
41 13| 13| 3| 13[V69[+217
13| 19| 7
14.
3 4 9] 10 5 1
13 11 3
V21813 9.-+4/2]+4/101]+106 |3 10 3




4 | Ppitagorov izrek.nb

a 9 5 5 3 8
bl4-+/6 3 3 24/13
c 14 | /58 12 8 7 14 | /65
16.
a 4 3 8 13 14 14
b 10 5 V95 | /55
c 7 V313 19 21| 12 8
17.
a 4 7 12 6 7 11
b 7 7 2 1 2 4/11
c 3413 |4/53|+/17 18 12
18.
a 13| 5| 11 9
b 1(2:4/6]2+4/39|3++/7
c 20 (13| 12|+/65 5 16 12 12
19.
a 11 14 12
b 5 13 12 | /155 5(3+4/7
c V233 [124/2 18| 17(+/89 8 16
20.
a 9 13 5
b 12 4.4/17 11 7
c|44/10|+/145 21 [4/137 | /113 | 4/205 12
21.
a 8
b 3|+/13 11[8++/3[4++/6 11|+/133
c|3+4/17 7 | /265 16 10 |/122 13 16




Pitagorov izrek.nb | 5

22.

6 6 3] 14 6
9 5 3] 11]+/39
V3716-+v2|15[v194| 8 8
23.
3 12 3] 5] 10| 4
V29| 1| 13
V34| 15]4/65 9[v74[v269]| 7
24.
8 9 4 9 2
2-4J10| 6 3 3 5.4/5
11 V1782413 15[3-/13 8
25.
2] 3 10
2 21 1] 7|27 12
V8555|285 8 10| 10
26.
13 11 47 1 3] 2
10 6 5
21| 12]+/181 6| 6]6-+/5|+205
27.
1] 13 8 2] 1 4
5 14 10
5.42|v170] 16 12[2-+/85 6
28.
9] 3] 5 14 1] 5 7
3 7 1] 11
J58| 6 7 /34 /185




6 | Pitagorov izrek.nb

29.

a 12 6 11 13 5 13 10
b 2 3 V33 8
Cc 18 Vs 19 7 14/170
30.
a 4 2 6|3 8
b 84/3 V11 1 13
c 6 19 10 6|+v/37|64/2|5
Resitve:
1.
a 6 2 4 Vs 2 /14 9
b 13 5 12 6243|4411 |3|+/115
c|+/205|4/29|4+/10|+/85 4 155 14
2.
a 3 9| 8 1 6 2 11 14
b 1 71 6 3 122 +/15|5-+/3 2
c|+/10|+/130|10|+/10 |6 +/5 8 14|10 +/2
3.
a 10 7 1 4 13 2 6 3
b|3:4/21(74/3 412+4/21[2+4/30 3{3+4/5(3%+/3
Cc 17 14 |4/17 10 17 | /13 9 6
4.
a 14 13 12 12 7 10 10 3
b|124/2 13| 4/145 71642446 |3+/21 14
c 22 113 44/2 17 |4/193 11 14 17 | /205
5.
a 14 11 6 10 11 7 11 5
b 12 132 4/7 14 6 14 |5-4/3 14
c|2+4/85|+/290 82474 /157 |7 < +/5 14 | /221




Pitagorov izrek.nb | 7

13 14 13 3 4 9 7 2
7 713+4/3 1 13 11|7++/3 10
V218 |7+ +/5 14 |+/10 | /185 | /202 142 4/26
7.
11 14 7 10 14 2 131 9
1 7 8 9 1 11 112
V122 |7 44/5[4/113 | /181 |4/197 | 54/5|+/170 | 15
8.
11 8 11 4 7|4 6 10
24/26|2+4/33 12 11|2+4/30|3[3+4/5 5
15 14| +/265 | /137 135 9(5++/5
9.
6 11 9 4 6 10 2 14
2+/7 11|344/7(8+4/2 6 10 10 5
8(11:+/2 12 1264210 +/2|2+/26|+/221
10.
11 14 9 12| 14| 14 3 5
2+/26 9(2++/22|+/145|4/93 |93 |91 |+/119
15| /277 13 17| 17| 17| 10 12
11.
2 8 9 5 14 7 3 2
34/5 7 9(+/119 11|+/15 6|21
7 V113|942 12 | /317 8|3++/5 5
12.
14| 14 7 13 8 3 13 3
V29 |+/93 7(12-+/14 13 8 4 10
15| 17|7++/2 15|+/233|+/73 | /185 |+/109




8 | Pitagorov izrek.nb

13.

a 6 4 12 2 14| 10 12 6
b 4 13 13 3 13|69 [4/217 [/13
c|2++/13 /185 /313 |+/13[+/365| 13 19 7

14.
a 7 3 4 9 10 5 9 1
b 13 2 11 9 1 9 3(2+4/2
c|+218 /13 [/137|9++/2|+/101|+/106 |3 /10 3

15.
a 10 7 9 5 5 3 12 8
b|4-6 33447 3(v/39(2-4/10|2++/13 1
c 14 |+/58 12 |+/34 8 7 14 |+/65

16.
a 4 3 8 13 14 14 7 3
b|+/33 10 5 12| 4/165|74/5|+/95 | /55
c 7 V109 |+/89|+/313 19 21| 12 8
17.
a 4 7 12 6 7 11 10
b 7 7 2 9 2 1]4/203 [2+/11
C|V65|7+2[2:4/37|34/13|~/53|+/17 18 12
18.

a 13| 5| 11 1 10 9 9
b|+/231]12(+/23 1{2:4/6(2:4/39|3+/7|3%4/7
c 20 (13| 12|+/65 5 16 12 12

19.
a 11 8 12 13| 14 8 1 12
b 5 13 12 |+4/155|+/93 53«47 |4++7
c|+/146 /233 |12 +/2 18| 17(+/89 8 16




Pitagorov izrek.nb | 9

20.

4 9 13 4 8 13 5 4
12 8|4+/17 11 7 6(/119 6
4.4/10 | /145 21 [ /137 [ /113 | 4/205 122413
21.
12 6 12 8 2 1 6 8
3(4/13 118:4/3[{4:4/6 11|+/133|8+/3
3:4/17 7 | /265 16 10 |v/122 13 16

22.
6112] 13| 3| 14 6] 5
1 6| 9 5| +/55 3] 11]+/39
V37[6-v2]15[v194| 8[+205[+v157| 8
23.
3] 14 12 3[ 5] 10| 4
s5/v29] 1| 13]6-v2| 7| 13]vV33
V34| 15]4/65]+/313 9[v74[v269| 7
24.
9] 8 9] 13 4 10 9 2
2-4J10| 6 3 3 6|5 5 6215
11[10[3-+v10|v178]2 13 15[3 /13 8
25.
9 11 6 6 2] 3 10
2 21 1| 7]2-V7]4-V6 |91 12
V85 |5 +/5[v/2 |85 8 10| 10]2-+/61
26.
13] 11 9 47 1 12 3] 2
441723 10[2-+/5|35 6| 14| 5
21| 12[+/181 6] 6|6 +/5|+/205+/29




10 | Pitagorov izrek.nb

27.

a 5 1] 13 8 12 21 1 4
b 5| 13[+/87[4-+/5 14142 6 10
cl5-+v2[v170| 16 122485 637229
28.

a 9] 3] 5 14 1] 5 7 8

b 3] 7]Vt 714-v3| 3 1] 11
c|3-4v10|v58] 6[7-+5 71345 - v2[ /185

29.
a 12 6] 11| 4 13 5[ 13 10
b 2 3[v203[+33[8-v3[2 V6 1 8
cl2-y37|3-45| 18| 7 19 71v170[2 - vt
30.

a 4 13 2] 5] 6 63 8
bl2-y5|8-+v3|4-v6|v11| 1 64| 13

c 6 19 10| 6[+/37]6-v2|5[233




